do/dp’ et [pb/GeV]

Ratio to ATLAS

=

T

=
<
I

1072

[EEY

0.5

13000 GeV pp

Z+Jet

T | ' ! |
= Jetp_(p_ > 30 GeV, ly| < 2.5, m> 40 GeV) 3
- e, :
L | ]
B " = _
= iy =
L u -
B ATLAS =
= —A— Pythia 6.428 370 ] =
— oA Pythia6.428373 1 Ao - y " =
--0-- Pythia 6.428 374 LY S N
- Pythia 6.428 375 /é .
| -4 Pythia 6.428 381 hE- J—
= v Pythia 6.428 382 B Y =
- | | | | | | | ; |
- T T I | I T [ ' I:
A —
?\?\A I L l L L | L
0 200 400

pjTet (leading jet,= 3 jet) [GeV]

Rivet 3.1.10, = 2.5M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


